
## Item # Correct Answer
Primary
SE

Secondary
SE

Obj/Cat

1 M061096035D C 6.10(B) [S] None STAAR: M5

2 M06021893CS F 6.7(A) [S] None STAAR: M3

3 M061096037D B 6.10(D) [R] 6.11(A) [P] STAAR: M5

4 M061105493D H 6.10(A) [S] None STAAR: M5

5 M061105491D A 6.10(D) [R] None STAAR: M5

6 M061105489D J 6.10(D) [R] 6.11(D) [P] STAAR: M5

7 M063040846 A 6.10(D) [R] 6.12(B) STAAR: M5

8 M061105485D 6.10(C) [S] None STAAR: M5

9 M061088140D

Look at student's work. The stem and leaf should include the
following stems and leaves:

5: 8, 8, 9, 9

6: 0, 2, 2, 2, 3, 3, 3, 3, 4, 6, 7, 8, 8

7: 0, 0, 0

 

B. mode: 63

C. Median: 63

6.10(B) [S] None STAAR: M5

10 M061061052RX
Answers will vary. The best choice is a bar graph since the
data is discrete.

6.10(A) [S] None STAAR: M5

11 M061088142D B 6.10(B) [S] None STAAR: M5

12 M063214442 J 6.10(A) [S] None STAAR: M5

13 M06021885CS A 6.7(A) [S] None STAAR: M3
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